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Chapter 2.6 — Applications of Rational Equations {Word Problems)

egl: The sum of a number and twice its reciprocal is 9/2. Find the number.
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- eg2: The cold water tap can fill a bathtub two hours faster than the hot water
tap. The two taps running together can fill the bathtub in 80 minutes. How long

does it take each tap to fill the container on its own?
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eg3: A speedboat can travel 108 km downstream in the same time it can travel 78
km upstream. If the current of the river is 10 km/h, what is the speed of the boat

in still water?
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egd: A car travels from home to work at an average speed of 80 km/h, and
because of traffic, returns from work at an average speed of 50 km/h. What is the
average speed of the entire trip if the distance to work is 20 km? Nearest tenth.
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eg5: Ray and Ann ride a bicycle a distance of 4 km each morning. They both
- finish at the same time but Ann starts 1 minute before Ray, and Ray travels 1
km/h faster than Ann. At what speed are they traveling?
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